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FAN SA0S0
g Ngs2IgX&

Cel: JIGEXN SR (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
g sS4 ENEXs N2 1,193,000 0 1,193,000
s 1,110,000
< 83,000
402 2I2H X201 M 1,193,000 0 1,193,000
s 1,110,000
< 83,000
02 2IZE 2 A EZ(OI XM TH ) 1,193,000 0 1,193,000
OXNY s4IIY ENEXS XN 1,193,000
s 1,110,000
< 83,000
sAJIEsd N 2,548,370 1,556,600 991,770
< 124,811
Al 2,423,559
HHO| &= SeHE OtAHE % EHZ S 45,000 45,000 0
307 glz2tol & 45,000 45,000 0
02 It MAHEE 45,000 45,000 0
OOl = 245 OtHE X 45,000
JIgE=sa HA0AHE X2 500,000 600,000 2100, 000
307 21201 A 500,000 600,000 A 100,000
02 YAFAANFEX 500,000 600,000 100,000
OFAJY olAANE HE 2 2Egs HIOHXE 500,000
HOIMF 248 AES 88 10,000 10,000 0
307 21201 A 10,000 10,000 0
02 QAFAAFEX 10,000 10,000 0
OHIOIE = =843 AHE &8 10,000
N =435 EE2X& 6,000 6,000 0
201 ¢er24| 6,000 6,000 0
01 At 22l 6,000 6,000 0
OXNE R==6F EEXNE 6,000
S201e Jl=X& 7,000 7,200 A 200
402 RIZEX20l A 7,000 7,200 A 200
01 U2 EALE X (KM R) 7,000 7,200 A 200
oOs2J1Y JI=Xd 7,000
019 ((2) e g ALK 9,000 10,000 A 1,000
307 21201 A 9,000 10,000 A 1,000
02 QIAHFAAHFEX 9,000 10,000 A 1,000
O==J1(2) = g AR 9,000
22Y RAM2IO LHAS(FHAFZXE) 20,000 20,000 0
307 21201 A 20,000 20,000 0




FAN SA0S0
g Ngs2IgX&

thelr SAJIgs4d N (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 20,000 20,000 0
O=2=2Y RAYFII LHAL (M=) 20,000
S0 SFMH 249,370 230,000 19,370
< 74,811
Al 174,559
402 RIZFR201 ™ 249,370 230,000 19,370
= 74,811
Al 174,559
02 RIZE X2 AL EZ (01X ) 249,370 230,000 19,370
OsAJ1Y #ZMH 249,370
< 74,811
Al 174,559
230 SSXNHEH 2Z(HEEHXAH) 100,000 100,000 0
< 50,000
Al 50,000
307 21201 A 100,000 100,000 0
< 50,000
Al 50,000
02 IS AHE L 100,000 100,000 0
OAxZ¢0 EXJAEH 294 100,000
< 50,000
Al 50,000
ey OelstZAAY A5 NAML(SHHEX 50,000 50,000 0
2l)
402 RI2EX20l ™ 50,000 50,000 0
01 212t 2 AL E = (REM ) 50,000 50,000 0
O%elJlYy delsZAAE 2= XJAAS 50,000
SIS JTANE 29 24,000 24,000 0
201 ¢er24l 24,000 24,000 0
01 At 22l 19,200 19,200 0
OZAJIYXNE SFANE 29 ZUHE 19,200
02 2324l 4,800 4,800 0
OFAJIHXNE SEFANE SR 4,800
ol Jlateldl 22X sEstorg 60,000 80,000 £20,000
307 21201 A 60,000 60,000 0
02 It S AIHE L 60,000 60,000 0
©JIgY Jl1&eldl 22X stestote 60,000
401 2ete e X 16,000 14,400 1,600
402 RI2FX=201 M 16,000 14,400 1,600
01 2IZFH 2 A B (RERTH &) 16,000 14,400 1,600
O=AJlY =242 OHAE N 16,000
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FA SA0EL
= HER2GFU(ZA01 )
¢ JI2de(EA0gn)
SA - ZE-B(EA) - NRAY - B S il &t o il
202 Od4dl 20,160 23,400
01 = LHA YI 20,160 23,400
OJIegRF& A 20,160
203 YR =&l 3,000 3,600
04 FN2ELSZTH| 3,000 3,600
ORAN2EIRFAHI 250,000 128 3,000
HRes(5A0/gn) 1,500,000 1,500,000
UWEAHANKS (5201 ) 1,500,000 1,500,000
EREEIZS NA 500,000 500,000
702 JIS8ES 500,000 500,000
01 JI38&E= 500,000 500,000
OFX&EIZ XA 500,000
SaIEEHI=s A& 1,000,000 1,000,000
702 JISHES 1,000,000 1,000,000
01 JI3dES 1,000,000 1,000,000
osallg=s4dlla NE 1,000,000




